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A oooogog f(x)=cx, f(x*ty)=1f(x) *f(y), f(1)=c.
@ oooo f(x)=a, f(xty) =f(x)f(y),f(d)=a#0,
3) 0000 f(x) =log, x, f(xy)=f(x)*f(y) f(a)=1(a>0,a%1).

@ooo f(x)=x* f(xy)=fx)f(y),f (1)=a.
G) 0000 f(x)=cosx,0000 g(x)=sinxO f(x=-y)=~1f(xX)f(y) TgXx)g(y)Od
f(0) =1,lim M=1.
X ) X

2.0 00opoooo (g ax0)
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010 f(x) =f(x+a)00 f(x)ODOO T=aO
020 f(x)=f(x+a)=00

1

f(x)

O f(x +a) = (f(x) #0)0

0 f(x +a)=—% (f(x) 20),

0 %+.J'f(x) —f°(x) =f(x+a),(f(x)e01]),0 f(x)oOO T=2a0

3) f(x)=1-—> (f(x0£0)00 f()000 T=3a]
f(x+a)
f(x) *f(x)

@ 100 +x) T1of(x) f(x,)

O f(a)=2(f (x) -f (X)) #L0 <|x,— X, |x2a)00 f(x)OO

0 T=4a0
(5) f(X) +f(x+a) +f (x+2a)f (x +3a) + f (x +4a)
=f(x) f (x+a) f(x+2a) f (x+3a) f(x+4a),0 f(X)0OO T=5a0
6) f(x+a)=f(x)—f(x+a)lO f(x)OOO T=6a.
30.00000

m

— 1
(1) a" =—0 a>0,mn¢e N*'Oo n=10.

Ya"

m
— 1
2 a"=—0a=0mnEN"0D0 n>10.
a?
1000000

010 (Va)" =a.

D200 NnOOOO0O va' =an
a,a=0

r

0 nODO00O00 va' dal=1 .
—a,a<0

3200000000000
s —
1) a a =a (a=0,r,s€Q).
2 (@) =a (@a=>0,r,s5Q).
3) (ab)' =a'b (a >0,b =0,r Q).
00 0 ad00p00000000 & 000000000000000000000000C0

ooooogod
3.0 0ugougogg

log, N =b= a° =N (a >0,a #1,N >0).
34.0000000
_log N

log, a

log, N (a0, 0a#1, m=>=0,0 m=1, N =0).

no N
00 Iogamb =—log,b(a>0,0a>1, mn=>0,0 m#1, n#1, N >0).
m

sUuugogooon
[J all OO a# 10 MJ OO NJ o I

(1) log,(MN) =log, M *log, N
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(2) Iogaﬂ =log, M —log_ N:
N

3) log,M" =nlog, M (n€ R) .
36. 000 f(x)=log,(ax’ +bx+c)a=0).0 A=b"—-4ac.0 f(x)DODOOO R,O

a>=000 A<O0;0 f(x)ODODOO R,0a=000 A=z0.00 a=0000 ,000000
Jr.uuogoonogd

1
0a=0,b=0,x=0,x—,000 Vy=Ilog,/(bx)
a

(1) Oa=bDb,O0 (O,E)D (l,m)m y =log,(bx) D000 .
a a
1 1
0(2) Da<b0,0 (0,-)0 (—,*2)0 y=log.(bx) DODOD .
a a

000 n=m=10 p>00 a=000 g=+100

010 log 4 (n+p) <log n.
>om+n

0 20 logamloga,n <log,

38.00000000
00000000000 NJODODOO pO00OD0O0 xO0O0OOO0 yoOo y=N(1+p)~.
30.000000000 nOOO0O0OO

s, n=1

a, =1 ( 00 {a,}00 nOOOO s, =a *ta, ¥ *a,).
L_Sn_sn_l;n22

40. 000000000
a, =a, *(n-1)d =dn+a, -d(nEN’) O

OO0 nOodogg

n(a, Ta, n(n -1
5, = M@ )=na1+(2 ) 4

d > 1
=—n" T(a, ——d)n.
SN TEamod)

41. 00 0goobgd

n a n = *
a,=aq" " == q (nNEN)D

q
U0 nUUOO0O0OOO
' 1_ n
S =1 1-¢
na,;,q =1
a, —a
1 nq,q?"_l
Dsnzﬁ: 1_q '
nha,q =1

2200000 %8} ay=qa +d,a =b(q*0)000000
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b +(n-1)d,q =1
a,=4bq" +(d -b)g"*-d O
| q-1
O40 nOOO0OOO
nb +n(n-1)d,(q =1)

S, =1 d 1-q d :
(b-——)——1 + = n(q=1)
U 1-q q-1 1-g
43.0000 (U000 )
HREREEN x:ab(1+nb) 00 abl,n0oo ,0ooooan b).
(1+b)" -1
440 00000 00

— .r[ -
0100 XE(O,E)DD sSin X < X < tan X.

I
()0 x = (0, E)D 0 1-=:sinx+cosx£~.r5.

(3)|sinx | *¥|cosx|=1.
45.0 00000000000

sing
sin“® +cos ® =10 tan® = 0 tanB -cotd =1.
cos®
46.0 000000000
. nm —1)? sin @, no000
in( ™ 4oy _ /(7D ( )
2 n-1
2
(-1)  cosa, hooo )
. (_1)5005‘,1, (n 000 )
cos(— ta) =4 -
(1) * sina, (n0O00)

47.0000000
sin(ee £B) =sin acos P £cosa sin B ;
cos(e £ PB) =cosa cos P Tsinasin B ;
tanc *tan P
tan(e £ By == .
17 tan< tan p

sin(@ + P)sin(e =Py =sin@ —sin” P (oooooo ),

cos( + B)cos(ﬂ't - E‘) —cos @ —sin” P.

asin® +*bcos® = va’ +b’sin(@+®) (oo o0 ®ooo0o0o0o0 (ab)DoDoOoO,

b
tan® ==
a
48.00000

sin 2% =sjn @ cos™ .
2 . 2 2 . 2
COS20 =CcoS @ —s|n o =2cos @ —1=1-2sIn "o .

2tan
tan 24 = 5

1-tan «
49. JO0OOO
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sin 36 =3sin & —4sin 8 =4sin E!sin(z —8)sin( ; +8).
cos36 =4cos” 6 —3cos B =4cos 6 cos(% —El)cos(% +8)

3tan 8 —tan’ B T T
tan 30 = > =tan 6 tan(— -8 ) tan(— +98) .
1-3tan "o 3 3

50.000000000
00 y =sin(ex +?)0xORO0O0 y=cos(@x+P)0xORA,w, 00000 A 00w 00)

2T T _
000 T="2ppo0 y=tan(ex+9)0 x#kn+z,ka(A,m,‘PDDDDD A2 00 w 00)0
D
T
o0 T =—.
D
51.0000
a b C

- = . = . =2R'
sihA sinB sinC
52.0000

2 2 2
a =b +c —-2bccosA;

2 2 2
b =c *+a —-2cacosB;

c2 =a2 +b2 —2abcosC .

3. 0

1 1 1
U 10 S=Eaha :Ebhb ZEChCD h,OhOhOOOO adbOcOOO0OOO

020 S =labsinC =lbcsin A =E casin B
2 2 2

1
(3) Sjons =?/(| OA| {OB |)? —(OA OB)2.

s4. 00 ooon
00 ABCOOO A+B+C=m= C=1m-(A+B)

C m™ ATB
s —=—- = 2C =2m -2(A *B).
2 2 2

Ssch.dupugbougoogd

sinx =a<= x =k7T +(-1) arcsina(k €Z,|a|£1).
cosx =a< x =2kT Tarccosa(k =Z,|al=1).
tanx =a= x =km Tarctana(k Z,a€ R).

0oo, O

sina =sin P < o =kt +(-1) Pk 2).
cosa =cosP= a =2kn B(kE Z) .

tane =tan P= a =kn +B (k<€ 2).

56.00 00000000000
sinx >a(la|=1)& x=(2km *Tarcsina,2km *m —arcsina), k< Z .

sinx <a(lal]®1l)< x € (2k® —m —arcsina,2 k™ Tarcsina),k< Z .
cosx >a(ja|=1)= x = (2km™ —arccosa,2k™ *Tarccosa), k< Z.
cosx <a(|a|£1)= x € (2kT™ tarccosa,2k™ 2T —arccosa), k< Z.
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T
tanx »a(a€ R)= x < (kx +arctana,kn +E)’ ke Z .

i
tanx <a(a€R)= x€ (kx —E,kn +arctana),k € Z .

S/,.000000dooon
OANOupy OO0ooooad
(1) DOooo A(ua=(Ap)a
2 ODO0OooonO (A +y)a=A aty a;
(3) 000000 A (a+h)=\ a+\ b.
58. 00000000000
(1) a- b=b- a0 OOO0O ;
(2) 0 ~ald b= AOa- bO=Aa b=a- -0 Ab0;
(3) U atbl c=a- c+b - c.
5.0000000¢0
00 ede.000000000000000O0000OO0000000O000OOOO0O0O00O0O O
OO0 A OA 000 a=A e+ 2e2l]
Oo0o0o0dd eelDed00000000000O00O0OO 0o O
eoL U dOoong
O a=(x,Y,),b=(X,Y,)00 b#000 aPbb #0)= X,y, —xYy, =0.
53.a0 bODODODO (0ODO)
a- b=| a|| bjcos 6 O
6l.a- bOOOOO
000 a- bOO aO00 ja|0 b0 ad0O0O0O0OO |fcos® ODOOO
2. UL OO

(D) 0 a=(X, Y1), b=(X, ¥2) 00 ath=(x * X, y1 +2).
(2) O az(xliyl)’b:(XZ’yZ)DD a-b= (X =%, Y1— ¥2) -

3) O A(X,¥:) 0B(Xz,Y2), 0 AB=0B —OA= (% —%,Y2— Y1) -
4) O a=(x,y), L.ERODO ha=(ix,Ly).

5) O a:(x1,y1),b:(xziy2)m|:| a- b:(X1X2+y1y2)-
63. 000000 OO

+
cost = XiXe " Yo = (a=(%, Y1), b=(%z, ¥2) ).

2 > >
JXL Ty '\/X2+Y2
4. 0000000000

d,s=| AB|= VAB AB

= J% =%)° F(y2 = %1)° (A (%, ¥2) 0 B(%, ¥,) ).
65. 000000 nn

0 a=(x, Y1), b=(X,,Y,) 00 b#00 0

Al b= b=r a= Xy, =Xy, =0.

alb@ #0) <= a b=0& x,x, Ty,y, =0.
6. LU0 on

=i —=——

0 P(%,Y.) 0O P (X%,Yy.)0 P(x,y) oo PP,OOD0O ,A00000 RP=APR OO
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X T AX

« ———
{: 1 + fu o OP _ OP]_ + f-_OPz
yi T Y, 1+ 5
Y =—7"7"T—
L 1+ .

—— e —— ———a

1+5
67.0000000000
OABCOOODOOOODOO A(X1,y1)0 B(X2,y2) O C(Xs,y3) .00 ABCOOOOOOO

Xp TXo X3 Y1 Ty, Ty

3 3
68. U U LI0M0

G( ).

X =x +h x=x —h T
4 = 9 = OP =O0P +PP .

Yo=ytk o ly=y -k

0:00 FOODOOOOD PxOy)OOOODOO Foooooo P(x,y)oo PPOOOO
(h,k).

69.* 0O0D0ODO0” 00000

0100 P(xy)000 a=(h,k)DOD0OO0O P(x+h,y+k).

2 00 y=f(x)0OO COOO0 a=(h,k)ODOO 0000 C,0 C OO0 0000 O
y =f(x-=h)*+k.

3) 00 c 000 a=(h,k)DOODODOOO C,0CO000 y=f(x),0C 0000000
y =f(x *h) —-k.

@ o0 C: f(xy)=00 00O a=(h,k)DODDOOOOOC ., 0oCoOOO0O
f(x—=h,y—k)=0.

5) 00 ne(x,y)000 a=(h,k)D0O000000000  neE(X,Y).

00000 0" buooobobood
0Oo AABCOOOOoOoOoOooOO AB,COOOOOOO ab,cO0O

=2 =2 =2

OA =OB =0OC .

010 OO0 AABC OOO
OATOB*OC=0.

020 Og AABCOOQO
030 OO0 AABC O OO OA OB =0B -OC =0C OA.

040 OO AABCOODO = aOA*+*bOB*+cOC =0.

050 OO0 AABC O £ZA000 = aOA =bOB +cOC.
71.000000

T o

010 aab€R= a° *b*Z2ab(0000 adbOO* =" 0)0
ath
020 a,beR ™= , >yJab(0DDOOO adbOO* = 0)O

030 a” +b® +c” 23abc(a =0,b >0,c > 0).
04000000

(@° +b’)(c’ +d°) =(ac+bd)’,a,b,c,d € R
050 |al - =|atb £la *|b|.

72.0000

U0 x,yuoooogoono

01000 xyOOO pOO0O0 x=yOO x*tyoooo 24p0O
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1
2000 xXx+yUdo sl x=ydd xyttto —SZ.
4

00 00 x,y€ROOO (x+y)° =(x-y)° +2xy

01000 xyOOO ,00 |x—-y|ODOD ,|x+y|0O0O

O|x-y|lOOoO, |x+y|oO.

02000 |x+y|00OO,00 |x—y|OOO,|xy|0DOO

O|x-y|O0O0O, |xy|OO.

73.0000000 ax’ +bx+c=>0(0 <0) (az20,A=b’-4ac=0)000 aO ax’ +bx+c

goooodobogoogbgd aDaX2+bX+CDDD[ID|]DEIDEIDD Lgougogoon
googoougod

Xp <X <X & (X=X)(X=%)<0(x <X)O

X<X,OX=Xe (X=X)(X=X%X)=0(X <X,).
74.000000000
0 a>0 000

X <as x’<a = —a<x<a.
X >ae X *a & x>al X < —a.
75.00000
"f(x)z0
010 JT0) >Ja = {g(x) 20
F(x) = a(x)
f(x)z0
020 Jf(x) >g(X)= 49(x) 20 U
) >[g]°
f(x) 20
030 (0 <g(®= {g(x) >0

() <[gX)]°
7.0 0000000 OOMO
(1) 0 a=10,

J‘“f(x)zo
g(x) <0

a'”=a'"e f(x)>g(x);
"f(x)>0
log. f(x) >log, g(x) & 19(x) >0
L (x) =g(x)
(2) 0 0 <a <10,
a'”=a"e f(x)<g(x):
"f(x) >0
log, f(x) >log, g(x)= 19(x) =0
F(x) <9(x)

77.00 000
k=220 B(x,yi)0 Pu(%,ys) 0.
Xo —X1

/U000 0O0O0
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010000 y—-y, =k(X-x)(OO0D 100 P(x,y:;) 00000 k)O
020000 y=kx+bo ooo lo yooooo ).

_ X — X
n3oooo Y=Y _ Ly 2 Y0 B (X, Vi) O Po(Xe, Va) ( Xy # %))
Yo—=Y1 Xy =X

X
(4) 0on —+%=1(aD bOODODOOODOOOODOOO ad b=#0)

a
050000 Ax+By+C =0(00 ADBOOOO 0).

79.0000000000

(1)0 Il:y=k1X+b1D |2:y=k2X+bz

- L ]|l = k =kz, by #b;:

U |1 J_Izﬁ k1k2=—1-

@ol,: Ax+By+C, =0,,:Ax+B,y+C, =00 A;:0A0B,0B, 0000 ,
A _B _Cy

A B G,

U I1J—|2ﬁ A1A2 +Ble =0l
80.0000O

U NP

ko =k
1 +k,k,
(h:y=kx*hol:y=kx*b, kk, #-1)
) tana = AB, — A5, |.
AA TBB,
(L AXx*+By +C, =0, : A, x+B,y *C, =0, AA +B,B, #0).

(1) tana | .

i
o0 L Ll,oooo nOd LOOOO E

81.,0 l,000OO

k2 _kl
(1) tan o = .

1 +k,k,
(lry=kx*b ol y =k,x*b, kk, #-1)
(2) tan @ = Ale _AZBl .

AA, T BB,

(lL: AX*By *C, =0,l,:A,x*B,y *C, =0, A A, +B,B, #0).

T

0o, LL,oooo O L,OOO E'

820000000000

(1) ooooooouooid  R(X,Y) 0000000 Y=Y, =K(X=%)(0O0O X=X),
00 koooooOo ; 0000 B(X,Y,) OOoDooOoO A(X—=%)+tB(y—-y,)=0,00 A BLO
nooooo

(0000000000000 | :Ax*By*C,=0,1,: Ax*+*B,y*tC,=0000000
D000 (AX*ByYy*C)*A(AX*B,y*C,)=0(0l,)000 A 00O0D0DO0DOO

() 0DD00000D00 00 y=kx*hOoDOOO kODOO bODOOODDODDOOOODDOO O
00 Ax *By +C =0000000000 Ax+By+A=0(A~#0)0A 00000
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(4 000 0000 U0 00 Ax+By+C=0 A2 00Bz 0000000 OO0 O
Bx-Ay 4 =0, 00000
83.0000000
| A%y +By, +C|
vA +B
84. Ax+By +C -00 «00000000O
000 |I: Ax+By +C =000 Ax+By+C =00 «00000000000O

0B#000O BO Ax+By+COOOO0OOO000O |l000000O00 OBO Ax+By+COO0O0O
0000 looodoo 000, 0000 ,0000 .

0 B=000 A0 Ax+By+COOOOOO0OO l0o0oO00O0O00 O AO Ax+By+COoOOOO
0000 loooododod 000 ,0000 ,0000 .

85. (AXx +B,y +C)(AXx*+B,y+C,) =00 <0pgooooooo
oot C:(Ax+By+C)(Ax*+By*C;) =00 AABB, #0 O
(AX+By+C)(AXx+By+C,) =00 <00000000o0Oo
(AX+BYy+C)(AXx+By+(C,)=000000000000000

(AX+By+C)(AXx+B,y+C,) <00000000000000
86. 00OO0ODO

010000000 (x-a)° +(y-b)’ =r".

d

(0 P(X,Y,),00 IO Ax+By +C =0).

020000000 x +y° +Dx+Ey+F =0(D’+E’-4F 0 0).

'x =a+r cosf
o3pWooooog

'y=b+rsin®
U40oooooun  (X=x)(X=%)*(y-y)(y-y)=0ooooooon Ak, ¥) O
B(X, ¥,)).
g7. oo

1) 00 A(x,V.), B(x,y,)000000

(X =X)(X =X%;) (Y =y)(Y = ¥2) TAU(X=X)(Y1 = ¥2) = (Y= Vi) (X = %)] =0

= (X=x)(X=X%X,) F(y—-y)(y—-y,) tA(ax *by*+c)=0,00 ax by *c=0000 ABOOO,
ADDOOOO0OO0O

2 000 !: AX+By+C=000C: xX"+y*"+Dx+Ey+F=000000000 0
X +y° +DXx +Ey+F +A(Ax+By *+C)=0,A 0000000
@) 00 C;: x2+y2+D1X+E1y+F1=ODD CZ:x2+y2+D2x+E2y+F2=ODDDDD

0000 x° +y +Dx tEy +F +A(x"+y°  *+Dx+E,y *F,)=0,A 0000000
gs. oo

0 P(X,,Y,)00 (x—a)° *(y-b)’ =r’0ooooooo
0 d =y(a=%)" *(b-¥)’ 0O

d>r= 0 Poono ;d=re oPooo :d<re= 0 Pooo .
80.000000DDOO

00 Ax+By +C =000 (x-a)’ *(y-b)’ =r’0cooooooo
d>re 00 & A<0;
d=re 00 = A=0:
d<re 00 A=0.

)

-39 -



Aa +Bb +C
U0 d = )

VA" +B°
90.00000000000
00000000 00QD00000 rOrd 00, =d
d=r+r,= OO A0 000
d=rn+r,= UL CHRERNEN
n—r,<d<n+r,e 00 « 20000
d=hn-rel0 < 10000

0<d<r,-r,/]& 00« 0000

01. 000000

1) 000 x°+y* +Dx +Ey+F =00

000000 (X,Y,) 0DO0O00DO0000000000

D(x% *x) L E(Yo *y)
2 2

Il

il

+F =0.

XX TYoy *

D(x *x) L E(Yyo*y)
2 2

TF=0000000000000

O (%, Y)OODO , XoX Tyoy ™

0d

00000000000000 Y-Y, =k(X-=X)00O0ODOOOoOooo kOooooooo
000000000000 yOoOoOood
0000 kOOOOOOOO y=kx+bODOOOOO0OO0OO bOOOODOOOO

@000 x> +y° =r’n
00000 P(X,Yo) DOOO0O0O0 XX+ Yoy =r:

D000 kOODDOOOO  y=kxzryl+k® .

x© Y 'x =acosb
92.00 ', +7, =l(a>b=0)000000 A L
a~ b 'y =bsin®
2 2
X .Y
93.00 , +7, =l(a>b=>=0)00000
a b
a2 a2
PF, =e(x +=) 0 |PF,| =e(— -X).
C C
9400000000
X2 2 X2 y2
DlDDFW@y@DDD‘7+X;=Ha}b}®DDD:i-%+—%£L
a b a b
X2 y2 X2 y2
0200 P(X,,Y,)000 S5+t =l(a>b>0000 & — +>1.
a b a b
95. 00DODODOOO
2 2
X XoX
(DDD—7+§*ﬂQ}b}®DDDF%%JQDDDDDDD °2+ﬁ¥=1
a
X2 2
D25DDD—7+§;=ua}b}mDDD P(X,,Yo)0OOOODODDOODODOOOO
a
XX L YoY _
2 M 02 =1.
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2 2

X
03000 *,+Y, 21@a=b=0)000 Ax+By+C -0000000 A'a +B’b =c .
a b

2 2

X
96.000 = _Y _1(a>0,b>0)000000
a b

2 2

|PF1|=|e(x+i)|D PF, =|e<i x|

ov.0uuuggg

2 2
X X
1) 0 P(X,, Y,) 0000 —z—y—2=1(a =0,b=0)000 = —Z—y—g}l.
a b a b
X2 2 X2 y2
(2) 0 P(X, ¥o) 0000 25 -Yr=1(a>0b=0)000 & 222 <1,
a b a b
08.0 0000000000000
X2 2 2 2 b
aooooooon 2 -¥ 21o pgooooo 5-Y=0e yo2+24x.
a b a b a

X X
(2) ODoooood y= bye —i%=0:‘;DDDDDD y = k.
a

2 2 2 2
(3) 00000 X—z_y—2=1|ZIDIZID|]D|] 000 X—z—y—2=}-_D . =00000 xO000 A<00
a b a b
000 yooo .
99. 00DDODODOOO
2 2
X X
(1) 0o —z—y—2=1(a}0,b:=-0)DDD P(X,,Y,)0O0O0O0OO0O on —y°2y=1.
a b a b
X2 2
0200000 —2—§=1(a}0,b:=-0)DDD P(X,,Y,)0OODOOOODOODOOOO
a
XX YoY
2 02 =1.
a b

2 2
X
030000 —z—gl—2=1(a}0,b}O)DDD Ax+By+C=0000000 A%a -BDb =c’.
a
100.000 y° =2px000000

00O y2=2m«p}O)DDD|CF|=m4=E.

2
_ P P _
00000 |CDj=x, ¥~ *x,t—=x+x, *p.
2
2
101. 000 y =2px000 0000 P(BZ/" ,ys) 0 P(2pt",2pt)d P (xsy9 O 0 O
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